MK 33.15 - 11wr.
MK 33.12 -1 wr.
MK 33.10 - 1wr.

c4eT Ne2

MK 57.12 - 4wt
MK 57.15 - 1wt
MK 39.15 - 2wt

cYyeT Ne 3

nnnTbl Ha oTmeTke -0,370
MB 72-12-10 - 12wt

MB 60-12-10, L=5400 - QT
MB 45-12-10, L=4200 - 1wt
MB 30-12-10, L=2750 - 3wt

cyéT N4
NNUTbl Ha oTMeTke +2.700

N6 72-12-10

N6 60-12-10, L=5400
N6 45-12-10, L=4200
MNb 30-12-10, L=2750
N6 75-12-10, L=7300
N6 30-12-10, L=2750

cyeTt Neb5

nk 63.12 - 7wt
nk 63.15 -2wr
nk 63.10 - 1wT
nk 42.15 - 5wt
nKk42.12 - 2wt

LuT.
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LUT.
LUT.
LT,
LUT.
LuT.
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